Mental Computation (End term 2 - Sample 1)

1 (N6.3)


3 x −6 



















































(−18)

2 (N6.2)


7 − 2 − 3

















































(2)

3 (N6.1)


Write 2 700 000 in scientific notation

























(2.7x106)

4 (CD5.2)

What is the average of 30 and 39?




























(34.5)

5 (CD5.2)

Is standard deviation a measure of the middle of data or the spread? (spread)

6 (N6.2)
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7 (N6.2)
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8 (N6.3)


Divide $100 in the ratio  3 : 2































($60,$40)
9 (PA6.2)

Simplify:   2b − 3b + 5b




































(4b)
10 (PA6.2)

Solve:  2(4x − 3) = 10






































(x=2)















Mental Computation (End term 2 - Sample 2)

1 (N6.3)


5 x −6 



















































(−30)

2 (N6.2)


8 − 2 − 4

















































(2)

3 (N6.1)


Write 640 000 in scientific notation


























(6.4x105)

4 (CD5.2)

What is the average of 20 and 29?




























(24.5)

5 (CD5.2)

Is range a measure of the middle of data or the spread? 









(spread)

6 (N6.2)
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7 (N6.2)
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8 (N6.3)


Divide $100 in the ratio  3 : 1































($75,$25)

9 (PA6.2)

Simplify:   5a − 2a + 3a




































(6a)

10 (PA6.2)

Solve:  2(3x − 2) = 20






































(x=4)










Mental Computation (End term 2 - Sample 3)

1 (N6.3)


4 x −6 



















































(−24)

2 (N6.2)


7 − 3 − 2

















































(2)

3 (N6.1)


Write 51 000 in scientific notation



























(5.1x104)

4 (CD5.2)

What is the average of 40 and 49?




























(44.5)

5 (CD5.2)

Is median a measure of the middle of data or the spread? 








(middle)

6 (N6.2)
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7 (N6.2)
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)

8 (N6.3)


Divide $100 in the ratio  2 : 3































($40,$60)

9 (PA6.2)

Simplify:   7d − 4d + 2d




































(5d)

10 (PA6.2)

Solve:  3(2x − 4) = 18






































(x=5)





























































